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An 7190257 AR — INS22 NIRRT OS2 NOIPAR 790N 7ON2YT AN
will prove; for she is acquired o352 and is not acquired 77X°32

OVERVIEW

The X3 explains that the reason the 77N needs to write 772 (to teach us
that an AWX is 7X°22 N°3P1) is because we can disprove the fn2°»n 1"'p (which
attempted to teach us that an AWX 1s X322 N°1P1). 7°72v7 AR disproves the 1"'p
for she too is 7032 N°1p1 and is not %22 N°1P1. Our MdOIN will question the
validity of this 1°21; specifically what is meant that 77X is not X232 n°1pa.

MmooIn asks:
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It is astounding! If the 70 would have remained silent and not written
79v2aY, then we would have indeed thought that an 77°92w:7 772K is also nvp:

7x°32 from a ' a"p -
— NP NTY2) AN XY 1PN NI HY92¥N NNIN NIYN 120900 (v 91 NIPY NNT

For later we exclude 192w R from being acquired 7%°22 from the word
ova;” however here we are discussing what would be if 731 would not

have been written. In that case we would derive that 7°72v77 77X is 7X°22 n°1p1 from a
mm2m 1"p. The question is that we can derive that TwX is %22 n°3p1 (without 19v2Y) from a
2 1"P and we cannot refute the 1"'p by utilizing a 131 from 72X because 72X would
also be nX°22 n°1p1 from the same 1"p, since there is no 77¥21 to exclude 7nX from 7R™2.

N1B0IN answers:
— NP P NI 7599 9977 Y9 W

And one can say; that this is what the X723 asks, ‘but is it not a W2ym bp’
that an WX is 7X°22 n°1p1, so why is the word 7%v2) necessary -

— 1IN YA NININT DY) TAVYIN KDY NUN DIVNT
For on account of an 7wX the word 7%¥231 is unnecessary, for we can

derive with a Y'"'P that she is 7822 n°3p1 -
— AN Y0IYND PN MM HYAY RIP 2INIY N9a¥N NNIN YVIYNY IN)

And if you are concerned that 719¥21 is required to exclude 57°92y7 AN that
she is not 822 n°1p3, the P2 could have written ®¥2y (without a X"77), and
we would have established that v21 comes to exclude an 72X -

" The 1"p would be the same one the x»3 attempted to use here to derive 7X*2 by an 7wX. If a 7n2’ who is
not 7052 N1p1 is X212 N°1p1 then an 71X which is 1932 n°1p31 should certainly be X*22 n°1p1.

2 According to 11m ' (there) the word 77¥21 comes to exclude nnX from ax°2 PIp, for without 75921 we
would assume that 72X is 71X°22 N°1p3 from this aforementioned 722°1 1"p. See ‘Thinking it over’.
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Since 7v21 is not required for the woman to teach that she is n%°22 73p1 for

we can know this from the 1", so why do we need the extra X' of noy21?
— 91990 YPa NINN 11N XY N9 NN HYa) NHX ANd XY IN 2vNY

And the X3 answers, if the 7790 would have only written ®»21 then we

could not have derived from a 1" that a woman is 7%°22 7171 -
3:1‘\’9”‘\ 1992¥0 NNIN RINAN AT

For we would have said 17392p77 2R proves that it is not a valid 1"p, since X is
also 1032 n°1p1 and is not N2 1IR3 [since it says 2¥23, which excludes 72y nR from
782 117]. Therefore the 7710 writes 79¥2) to teach us that an WX is 7%°22 nN°Ip1 but not an
X,

SUMMARY

The word 777¥21 (also) teaches that an ;7°72v77 779X is not I%°22 n°3P1. When the
X3 asked that why is 75921 necessary if we can derive 1X°2 1°Ip by an 7wX
from a 1", the X771 meant that since we have a 1"p, the P09 should have
stated H¥21 (to exclude mR) instead of 75v2).

THINKING IT OVER

nooIn asks that if there is no P105 of 779¥23, then an 7nX would be 7X°22 N°Ip1
from a 7n2°»n 1", hence there would be no X27°0 on the 1" of 72 IWR. The
Xnx later rejects the 1"'p of 72 mnR (for NI APPT 1DW 71922 1n), and
concludes that if not for 75v27 we would assume that an 7K is 7X°22 NP3
since NINR? 257 Awopn (to an nwX). Therefore as long as we have not
established that an 7WR is 7X°22 NP1 we assume that an 772X 1s not X°22 N°IP]
and it can be used to make a mmn.*

? There is an apparent difficulty here. When we say m°210 ;iaX to refute the 1"p that means that 7wX is not
7X°22 n°1p1. Hence how can we interpret 2¥21 to teach us that an 71X is not AX°22 n°3p1. If an 7w is NP3
7%°23, then 7¥21 [which is extra, since there is a 1"p that teaches us that WX is 7X°22 n°Ip1, so 7¥27] teaches
that X is not 7X°22 n°1p1; however if AWK is not 7X°22 NP1 (even 1"pn), then Hv21 will teach that AWK is
7X*22 n°3p1 but will not exclude anR (since we do not even know that an AWy is 8*22 n°3p1 only from 5v2Y).
If it does not exclude nnX, then there is a valid 1"p. If there is a 1" then 774X is excluded and can be a 7°21n
that 7wR is not n°3p1. This circular argument presents a difficulty. Others (2"w77n) explain the answer as
follows. Even if 7wR is not 7822 n°1p1 (because the 1" was refuted from the 11°21n of 1MX), nevertheless we
could still maintains that v21 excludes nnX. We will say that 5¥21 means (not that an WX is 7%°22 n°1p1, but)
that an JwX who was 7022 n°1p1 (which is derived from 1> *2) is fit for 7x°2 (the %¥27). From this we will
infer that only an 7wX (who was 7022 n°1p1) is fit for AX°2, but not an MR (who was 7032 n1p3). The fact that
an 1R is not fit for 7X*2 (even after her 70> 1P [unless there was an additional act of 713°]) indicates that
she can surely not be acquired with 7X°2. Thus we can refute the 1"p. See 0" (KA) R"wAnn for a
different explanation.

* See n"na.
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